O 5 62 vl ol A7

rr

D 134 @ 176 ® 214 @ 288 ® 362



@ 17

® 18



m_T
K
o|J

Nfo
MO
T

op






(¢}

=

% 87 ghe AL

oo

@ 10 2 10 9 efroHA 10 2 Hisoltt.

@ RE AT A7) A9 of52l FAlof Hig=oth
® 12 2E Ad4<] Hig=olo},

@ 384 2 6 9] vjg=olrt.

® 9 & 54 o] oF4=o|t},



6. =RV FTSA L2 AS

H

Mo

AL

ru

F Al

[17]
H7]

@ 24 = 192 9] oFo|rt.

© 108 = 108 9 oF4=21 FA|of| Hj4=olTt,
© 1 2E A5 ofpolth

® 484 &= 7 9 Hijgrolt},

® 52 2] o0 A% 7 Aol

0 006 006 ®o0oe 66,0



(¢}

=

% 874 e A

oo
o

D 2x2x4x4x7=22x42x7
4
3x3x3x3 33

1 1

2><12><5><51>:22><52
D 3=
® axaxaxbxb=a>xb?

LT I2HNHHE 2 )



©)
®

%x2x3x2x2

1

2 32
1

23 x 32



=

oo

< &4

52

o
<= A

29

O 33=27

@ 2x2x2=23=38

@ 3x3xH5x5=32x5%2=9x25=225
1 11

@ 2><2><2><2727471761
IX3X3XHXH  2x3%xD52

_ L
"~ 540



al

A

10. ¢

oo

T =

Mo
tlo

w5 T2A(FY 27H)

D 3x3x5x5x7=32x2°%x7
1
5x5x5x5 5t

1 1

3x3xTxX7  32xT72
1 1

=)

® axaxaxbxbxc=a®xb?xc?



o=t

S



A2

12. th& %360 9] AQd4E RE 7

=

D12 3 @ 2,3
@ 3,5 ® 2,35



13. AR5 240 % 29 x 5" 9 59 A%7t 2S o, A% 0 o] L
Fotolet.

D
=%



14, AQ% 27 x 30 9] 40 44712 D o, 0 9 3 Ffoler.

5 S
=%



15. 325 x 7" 9 OF49] A7k 72 O] O] 4ok 28 o, D% x
o gre?

@1 @ 2 @ 3 @ 4 ® 5



=

oo

= 2 H =)
F Aol

@ 124:22x31

® 150 = 2x 3 x 52

o

Aog 27

(¢

1O
-

% AL

@ 196:22x72



17. 1 5¥ 200 717 9] A5 Fo4 ob42] 57} 3719 s ne
ERET:

@ 574 @ 674 @ 774 @ 874 ® 974



Stof oj® 9o Al Fol =A| st et &

527
1 45 atolet,

=
=
soF & /b e 4

18. 459 of® =<
A

D
=%



Fefal

S

© 58 Foto] o @ AA52 AFo| B

7 2

135 °fl 7t

19.

S7h)

B

Ho
il
<+
ol

5

o

@ 10 ® 12 @ 15 ® 18

@ 6



to] of® 24 b o] Aol

S

A =2 31
TasE 4B\

B4

Stofzt,

?‘

242}

,a, b 9l Z&

k13
=

HEs

. .

Ul Ul

2 @



